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10 ' HB.1.22 {4 )% name MO122A by Kenji Mastuo

20 WIDTH 80,25:SCREEN 2,1:CONSOLE 0.25,0.0 :DIM K()3) ,KK(13)

30 LOCATE 10,0:PRINT ™ IV Y NP G NI SR A O O ) 1 e 0 SO I 1 [0 15 S [ LA
40 LOCATE 10,2:PRINT"=e | K )< ADF—A 774 > O M2 N J)Lfe &, "

S0 LOCATE 20,4:INPUT “ |- F B (m) ... “HJIH

60 LOCATE 20,6:INPUT
70 LOCATE 20,8 :INPUT

WU R (em) .., "D
WO () A

80 LOCATE 20,10:INPUT AM A (me3)... "B

90 LOCATE 20,12:INPUT "L A& IL... . ... " ;TOTAL

100 LOCATE 20,14:INPUT “3£ 4 .......... “1AGE

110 LOCATE 20,18:INPUT "JJf {4 05 ®Ry.(0.4Lf £).. "RYST

120 LOCATE 20,18:INPUT "M (¥ % ORy.(0.4LL £). “iRYET:GOSUB sHS
130 IF HJH>=(H1+H2)/2 THEN TII=1:GOTO 1860

135 IF HJH>=(H2+H3)/2 THEN T{1=2:GOTO 1860

140 IF HJH»>=(H3+H4)/2 THEN TII= 160

145 IF HJH»>=a(H4+HS5)/2 THEN TII= 160

150 IF HJH<¢(H4+H5)/2 THEN TII=5

160 K(1)=5.3913:K(2)=5.2635:K(3)=5.1552:K(4)=5.0594:K(5)=4.8722:K(6)=4.8907

K(7)=4.8131:K(98)=4.7381:K(9)=4.6643:K(10)=4.5907:K(11)=4.5162:K(12)=4.4387:K(13
)=4.35989: 'wse RY Kl=1.0 K2=0.95 K3=0.9 K4=0.85 .k7=0.7..k9=0.6..k13=0.40

170 KK(1)=5.9837:KK(2)=5.8241:KK(3)=5.7011:KK(4)=5.5883:KK(5)=5.4818:KK(6)=
5.379:KK(7)=5.2778:KK(8)=5.1767:KK(8)=5.0742:KK(10)=4.96688:KK(11)=4.859:KK(12)=4
.743:KK(13)=4.6185: 'ess RY kK1=1.0 kK2=0.95 kK3=0.9 kK4=0.85 .. .kk13=0.40
180 CLS: LO=LOG(10):YVL=LOG(20):YVL=YVL/LO:YVH=LOG(1500):YVH=YVH/LO
190 WINDOW(2,-YVH)-(4,~YVL): VIEW(40,0)~(460,350)
200 LINE (2,-YVH)-{(2,-YVL) : LINE(2,-YVL)-(4,-YVL)
210 XL1=LOG(1.1):XL1=XL1/LO:YL)=LOG(1.1}:YL1=YL1/LO
220 FOR 1=1 TO 8:YV=LOG(20+10e1):YV=YV/LO:LINE (2,-YV)-(2+XL1, -YV) NEXT [
230 FOR I=1 TO 14:YY=LOG(100+100«1):YV=YV/LO :LINE(2,-YV)-(2+XL1, -YV) :NEXT [
240 FOR 1=0 TO 1:YV=LOG(50+50=1):YV=YV/LO:LINE(2,-YV)-(4,-YV),, &HI111:NEXT I
250 FOR 1=0 TO 2 =LOG(500+500e1):YV=YV/LO:LINE(2,-YV)-(4,-YV),, ,&H111} :NEXT I
260 FOR I=1 TO 9:XH=LOG(100+100eI):XH=XH/LO:LINE (XH,-(YVLeYLL))-(XH,~-YVL)
270 XH=LOG(1000+1000s1) :XH=XH/LO: LINE(XH,-(YVL+YL1))-(XH,-YVL) :NEXT I
280 FOR I=0 TO 1:XH=LOG(500+500=1):XH=XH/LO:LINE(XH, -YVH)~-(XH, ~YVL), , ,&HI11}
290 XH=LOG(5000+5000«1):XH=XH/LO:LINE(XH, -YVH)-(XH, -YVL),, , &H1 111 :NEXT 1
300 NH=LOG(10000):NL=LOG(120):NH=NH/LO:NL=NL/LO: LOCATE 0,0:PRINT"“< V >"
310 LOCATE 0,2:PRINT"1000":LOCATE 1,5:PRINT"500" :LOCATE 1,13:PRINT"100":L
OCATE 2,17:PRINT"50":LOCATE 5,22:PRINT"100 500 1000
5000 10000™ : LOCATE 50,23:PRINT“¢ N >
320 VH=5.9637-.9184sNL:VL=5.9637-.8184«NH : LINE(NL,-VH)-(NH,-VL)

330 FOR I=1 TO S5:K=KK(Is2+1):VVL=K~.9184eNH:VVH=K-.9184«NL:LINE(NL,-VVH)~(NH,-VV
L) :NEXT 1: LOCATE 50.0:PRINT“< ¥ & >*

340 LOCATE 50,8:PRINT"Ry=1.0":LOCATE 53,11:PRINT"0.9":LOCATE 53,14 :PRINT"0.8":LO
CATE 53,16:PRINT“0.7":LOCATE 53,19:PRINT"0.6":LOCATE 53,21:PRINT"0.5"

350 FOR 1=5 TO 35 STEP 5:Q1=0:Q5=0:Q3=0:Q4=0:H=LOG(I):li=H/LO

360 FOR JX=0 TO 8:K=K(JXe2+¢1):KK=KK(JX#2+1):GOSUB eHCURVE:NEXT JX:NEXT 1

370 LOCATE G,4:PRINT"35":LOCATE 7.6:PRINT"30":LOCATE 10.7:PRINT"25":LOCATE 13,8
PRINT"20": LOCATE 18,10:PRINT"15":LOCATE 25,13:PRINT"10":LOCATE 37,18:PRINT"5m"
380 V=LOG(B):N=LOG{TOTAL):V =V/LO:N=N/LO:C=LOG(1.05):C=C/LO:CIRCLE (N,-V),C
390 LOCATE B80,0:PRINT"=a ifij ;2 £ LOCATE 60,2:PRINT"Hj= ":HJH:LOCATE 60,3:PR
INT"D = “;D:LOCATE 60,4:PRINT"G = ";A:LOCATE 60,5 :PRINT"V = ";B:LOCATE 60,8

400 PRINT"N = ":TOTAL:G=A:V=B:N=TOTAL:H=HJH:HJ=H:DJ=D:GJ=G:VJ=V:iNJI=N

410 LPRINT "eowsoss WA O EARDOM L TR (M3 &)eessneat:GOSUR X1

420 LPRINT:LPRINT "% 4 .. "SAGE " SE"iTAB(40) ;" (7 8 “:TII:LPRINT

430 LPRINT SPC(10):" L R M ":TAB(20)," M T% I 2 " TAB(30) " i Wi 17" TAB(42) " # [T ":T
AB(S1):"3K B " TAB(60) ;"4 Ly ) (2 ®" i TAB(73)." (Ry)"

440 LPRINT "3 {f f{":TAB(10) H:TAB(20):D;:TAB(30):G;TAB(40) ;V,TAB(50):N

450 LPRINT "t 72 (§":TAB(10):H;TAB(20) :DK;TAB(30Q) :GK;TAB(40):VK;TAB(50) :N:TAB(70)
(RY :LPRINT: DGP=D/DK:GGP=G/GK: VGP=V/VK

480 LOCATE 60,10:PRINT"H §i o E # & ##f T o ":LOCATE 60,12:PRINT" 8 {2 ";V-VK

470 LOCATE 80,14 :PRINT"? 1% 8" (V-VK)/VK=100;" %"

480 V2=LOG(VK) :N2=LOG(TOTAL) : V2=V2/L0:N2=N2/LO:C=LOG(1.05):C=C/LO
490 CIRCLE (N2,-V2),C:C=LOG(1.08)/LO:CIRCLE (N2,-V2),C
500 LPRINT "RY= “;RYST:" - “:RYET;" T o) [ {{ F {l{":B=1:RY%=RY#1000:RY=RY%/1000
510 IF H>30 THEN GOTO 520 ELSE GOSUBsX2 :GOTO 510
520 LPRINT: COPY 3:CLS 3:LOCATE 40,20:PRINT"eswess f§ T esasees" END
530 eHS: HSA=.8479° (AGE/5-2)
540 H1=31.0863-23.8275eHSA:H2=28.0783-21.5216eHSA: H3=25.0896-19.2157+HSA
550 H4=22.0612-16.9098HSA:H5=10.0520-14.6039«HSA: RETURN
580 sHCURVE:Q3=K-1.48491«H:Q4=KK-.9184«Q3:1F K=K(1) THEN Q1=Q3:Q5=Q4:RETURN
570 LINE(Q1,-Q5)-(Q3,-Q4)., . &H1111 :Q1=Q3:Q5=Q4 :RETURN
580 eX1: VK=((.0822484«H"~1.372082)+«(3681.6«H"-2.86783)/N)"-1
590 HF=.808545+.402345eH+, 140882+ (SQR(N)»H) /100 :GK=VK/NF
500 DK=-.000379+.981298e200% (SQR(GK/(3.14159aN)))-.028497=SQR(N)sH/100
810 HH=LOG(H) : HH=HH/LO:NRF=5,39131-1.49491«Hili:NRF=10"NRF
820  VRF=((.0822494eH"~1.37292)+(3681.6sH ~2,86783)/NRF)"-1:RY=VK/VRF:RETURN
830 «X3: HH=LOG(H):HH=HH/LO:NRY=KKK2-1.40491sHH:N=10"NRY :RETURN
640 »X4: NN=LOG(N):NN=NN/LO:HK=(KKKI1-NN)/1.49491:H=10"HK :RETURN
650 #X2: Q8=0:A=RY-RYST:KKK1=K(INT(((!1-RYST)/.05)¢.5)+1):

KKK2=K( INT(( (1-RYET)/.05)+.5)+1)
655 IF A>0 AND B=1 THEN B=B+1:Q8=1:GOTO 880 ELSE B=B+1:GOTO 660
660 GOSUB =X4:GOSUB »X1:GOSUB =X6:GOSUB »X8:GOSUB *X9:GOSUB «X5:GOSUB X3
670 GOSUB X1:B=B+1:GOSUB ¥X6:GOSUB «X7:GOSUB X10:GOSUB X5:B=B-1:RETURN
680 VK=V:GK=G:DK=D:GOSUB +X8:GOSUB #X5:GOSUH »X3:GOSUB =X|
890 GOSUB #X6:GOSUB »X7:GOSUB «X10:GOSUB sXS:RETURN

700 eXS: V=VK:G=GK:D=DK:NK=N:RETURN

710 «X7: IF B=2 THEN LINE(NZ2,-V2)-(NN,-VVK):RETURN

720 NNK=LOG(NK) : NNK=NNK/LO: LINE(NNK, -VV) - { NN, ~VVK) : RETURN

730 #X6: VV=LOG(V):VVK=LOG(VK):VV=VV/LO:VVK=VVK/LO:NN=LOG(N):NN=NN/LO:RETURN

740 eXB: IF B=2 THEN LINE(N2,-V2)-(NN,-VVK):RETURN

750 LINE(NN,-VV)-{(NN,-VVK) : RETURN

760 #X9: GOSUB «RINS :LPRINT "s ";B-1 :"®E ( th % "::IF AGE>100 THEN LPRINT "1
00 L k ) “ ELSE LPRINT AGE ;"% )"

770 RY%=RY*)100:RY=RY%/100:IF Q8=1 THEN LPRINT "[if {4 fil " TAB(10):H:TAB(20);DK:TAB(
30);GK;TAB(40) ; VK; TAB(50) ; INT(N+.5) : TAB(70) ;RY:RETURN

780 LPRINT ™[4 {§ il " ;TAB(10):H:TAB(20);DKeDGP;TAB(30):GK»GGP;TAB(40):VK=VGP;TAB(S
0);INT(N+.5):TAB(70);RY:RETURN

790 eX10: RY%=RY«100:RY=RY%/100:F%=10000s( (NK-N)/NK):F=F%/100

800 IF QB8=1 THEN LPRINT "[ {§ 5 “;TAB(40);V-VKeVGP TAB(50)  INT((NK-N)+.5):TAB(60)
;F:GOTO 820

810 LPRINT " |4 {8 k" :TAB(40);VeVGP-VKaVGP,;TAB(50); INT({NK-N)+.5);TAB(60);F

820 LPRINT '“|M) {§ i ":TAB(10):H:TAB(20):DK«DGP;TAB(30):GKeGGP;TAB(40) :VKeVGP;TAB(S
0);INT(N+.5):TAB(70);RY:LPRINT:RETURN

830 «RINS :IF Q8=1 THEN RETURN

840 GOSUB eHS :IF TII=1 THEN HQ=H1 ELSE IF TIiI=2 THEN HQ=H2
850 IF TII=3 THEN HQ=H3 ELSE IF TII=4 THEN HQ=l4

880 IF TII=5 THEN HQ=HS

870 1F AGE>100 THEN RETURN ELSE IF 0)(H-HQ) THEN RETURN

880 IF 0<(H-HQ) THEN AGE=AGE+«1:GOTO 840 ELSE RETURN
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